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RS Aggarwal Solutions Class 8 Mathematics
Operations On Algebraic Expressions

Ex 6A

Q1

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

Bab
— Hab
Jab
—ab

Sab

Q2

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

Tz
— 3z
bz
—T
— 2z

Gx
Q3

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

Ja — 4b + 4e
2a + 3b — 8¢
a — 6b+ ¢
6a —7b— 3¢
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Q4

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

5z — 8y + 2z
— 2z —4y+ 3z
—z+by— z
3r—3y—2=z
5z —Oy+ 2z

Q5

Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise, we get:

Gax — 2by + 3ez
—1llaz+ 6by— ez

— 2ax — 3by + 10cz
— Tax + by+12cz

Q6

Answer:

On arranging the terms of the given expressions in the descending powers of  and adding column-
wise:

2% — 0z + 0z +8
0z + 3z — 6z—5
T3 + 022 — 10z +1
—4z® — 5z 4 2243
5z° — 11z — 14z +7
Q7

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and adding column-wise:
6p+ 49 — 7+3
—5p+ 0g+2r—6
—Tp+1lg+2r—1
Op+ 2g—3r+4
—6p+17g+0r+0
= —6p+17q

Q8

Answer:

On arranging the terms of the given expressions in the descending powers of = and adding column-
wise:

4z + 49y — Tzy — 3

z?+ 617 — 8zy+0

2z2 — 5y — 2zy+ 6

Tz + 517 — 1Tzy+ 3

Q9
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Answer:
On arranging the terms of the given expressions in the descending powers of £ and subtracting:

—5a’b
3a’b

— 8a’b

Q10

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

6pg
— Spq
+
14pg
Q11
Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

— Babe

— 2abe

_+
— Gabe

Q12

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

—11p
—16p
+

op

Q13

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

3a—4b— ¢ +6
2a —5b+2c—9
- 4+ - +

a+ b—3c+15

Q14
Answer :

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

p—2q—5r—8
—b6p+ g+3r+8
+ — — —

Tp—3g—8r—16

Q15
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Answer :

On arranging the terms of the given expressions in the descending powers of & and
subtracting column-wise:

3z° — 22 42z 4
28+ 3z —5x 44
—_— — + —

2z° — 42>+ 7z -8

Q16

Answer :

Arranging the terms of the given expressions in the descending powers of £ and subtracting column-
wise:

4yt — 2y — 6y —y+5
5yt -3+ 2 +u—1
- + - - +

v+ Y - By -2y +6

Q17

Answer:

Writing the terms of the given expressions (in the same order) in the form of rows with like terms below
each other and subtracting column-wise:

30 — 49> —5r2 —6

4" +5q° —6r2 + 7

- — + -
—p—0g%+7%2—13

Q18

Answer:

Let the required number be .

(3a2 — Gab— 3% — 1) —z—4a’  Tab— 4 +1
(3a2 — 6ab— 3% — 1) - (4a2 — Tab—4b% + 1) —z

3a? — 6ab— 2 —1
4a® — Tab— 46 +1
—a’+ abt B -2

= Required number = —a® + ab+ b — 2

Q19

Answer :

Sides of the rectangle are [ and b.
=522 — 3y*

b=z’ +2zy

Perimeter of the rectangle is (21 + 2b).

Perimeter = 2| 522 — 3y? | + 2| 2® + 2zy

= 10z? — 6y> + 222 + 4zy
10z? — 6y°
2? + dzy
12z% — 6y® + 4y
Hence, the perimeter of the rectangle is 12z — 6y + 4zy.

Q20
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Answer:

Let a, b and c be the three sides of the triangle.
- Perimeter of the triangle =(a + b +¢)

Given perimeter of the triangle = 6p> — 4p+ 9

Oneside (a) = —2p+1

Other side (b) = 3p® —5p+3

Perimeter = (a +b+¢)

(60> —4p+9) = (pP* —2p+1) + (3P —5p+3) +e
6p” —dp+0—p*+2p—1-3p° +5p—3=c¢

(6p* —p* —3p%) + (—4p+2p+5p) + (0 —1-3) =¢
202 +3p+5 =¢

Thus, the third side is 2p* + 3p + 5.
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Operations On Algebraic Expressions
Ex 6B

Q1

Answer :

By horizontal method:

{5&: + T) * (3&: +4)

= 5:3{3:3 + 4) + 7(3.7: + 4)
— 1522 420z + 21z + 28
=15z2 + 41z + 28

Q2

Answer :

By haorizontal method:
(4::+Q) * {:1':—6)

= 4:3(2:— 6) +9(:r— 6}

=4g® — 24z + 9z — 54
=4z? — 15z — 54

Q3

Answer :

By horizontal method:
(2z+5) x (4z—3)
=2z(4x —3) +5(4z - 3)

=8z —6z+20z—15
=822 + 14z — 15

Q4
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Answer:

By horizontal method:

(3y —8) x (5y—1)
=3y(5y—1) —8(5y — 1)
=15y% — 3y — 40y + 8
—=15y" — 43y +8

Q5

Answer:

By horizontal method:

(Tz + 2y) x (z+4y)

= Tz(z +4y) + 2y(z + 4y)
= Tx? + 28zy + 2zy + 8y°
=722 + 30zy + 8y°

Q6

Answer:

By horizontal method:

(9z + 5y) x (4z + 3y)
Qz{4z + 3y) + 5y{4z + 3y)
=36z 4 27zy + 20zy + 15¢°
=36z +47zy + 159°
Q7

Answer :

By horizontal method:

(3m — 4?1) x (Qm — 3n)

=3m (2m — 311) — 4n(2m — ?m)

= 6m’ — 9mn — 8mn + 12n°
= 6m? — 17mn + 12n°

Q8

Answer :
By horizontal method:

(z% —a?) x (z—a)

=z*(z—a) —a’(z—a)

—z* —az’ —d’z+d°

ie (z° +a?) —ax(z —a)
Q9

Answer :

By horizontal method:

(z? — %) x (z+2v)

=z’ (z+2y) — y*(z + 29)

=z’ +220%y — zy® — 2°
i.e(z® —2°) + zy(2z — y)

Q10
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Answer :

By harizontal method:

(30° + ¢°) = (20 — 3¢%)

=3p* (20" — 3¢%) + ¢* (20" — 3¢%)

= 6p* — 9p*q* +2p%¢* — 3¢*
i.ebp' — TpPq® — 3¢t

Q11

Answer:

By horizantal method:

(227 — 597) x (2% + 3y7)

=227 (z® + 33%) — 5¢% (a* + 3y?)
=2z* | 622y — 523y? — 15¢*
=2z* + 2%y — 159

Q12

Answer:

By horizontal method:

[2:3 —'y3) X [:32+y2}

_ za(zz +y2) _ys(zz +y2)
e e
= (" ") + 2’y (z )

Q13

Answer:

By horizontal method:

(@ +y') x (=* —¥°)

—t(z? — ) + vt (22— 1?)

— ot ot 4 yfa? o

_ {2ﬂ _yo) _ zzyz(zz _ yz)
Q14

Answer:

By horizontal method:

N
“(ert) ey

=zf+r'+ L +1

i.ex® (z +1) _13( )
Q15
Answer :

By horizontal method:

(2 =3z +7) x (22 +3)
=2z(2? —3z+7) +3(x® -3z +7)

=2z* —6z® + 14z + 32> — 9z + 21
=92z% —3z? 45z +21

Q16

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com
RS Aggarwal Solutions Class 8 Mathematics

Answer:

By horizontal method:

(3z* + 5z —9) x (3z—5)

= 3z(3z® + 5z — 9) — 5(3a* + 5z — 9)
=0z + 1522 — 27z — 1527 — 25z + 45
=0z% — 52z 445

Q17

Answer :

By horizontal method:

(z? —zy+9?) x (z+v)

=z(z® —zy+v°) +y(z* —ay+97)
=z 2’y + v’z + 2y —xy’ + o
— 23 4P

Q18

Answer :

By horizontal method:

(z? +zy+v?) x (z— )
z(z? +zy+1%) —y(2® + 2y +?)
=g +:32y+ z*y2 —zzy— my2 —y3
a2y

Q19

Answer:

By horizontal method:

(z® —22% +5) x (42— 1)

= 4.'.:{2:3 —2:.:2+5) - l(m3 —2&:2—!—5)
=d4z! —8z% +20x — 23+ 222 -5
—4z* — 0z + 222 + 20z -5

Q20

Answer :

By horizontal method:

(932 —r+ 15) ® (:r2 — 3}
=z*(92° —z +15) — 3(92” —z + 15)
=0z* — 23+ 1522 — 27z + 3z — 45
=0z* — 2% 1222 + 3z — 45

Q21

Answer :

By horizontal method:

(z? — 5z +8) x (z* +2)
=z2(zz—52:+8] +2(2:2—5:r+8)
=z* -5z + 8z% +2z% — 10z + 16
=x* — 523 + 1022 — 10z + 16

Q22

Answer :

By horizontal method:

(z* —52% +3z+1) x (z* —3)

=z?(z* — 52® + 3z + 1) — 3(z® —52* + 3z +1)

=% 52+ 3% + 22 — 3z + 1522 — 0z — 3
=z% —5z* + 1622 -9z —3
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Q23

Answer :

By horizontal method:

(33+2y—4) 'S (:r:—y+2]
z(3z+2y—4) —y(3z+2y—4) +2(3z + 2y —4)

=327 + 2y — 4z — Jwy— 2% + dy+ 6z + 4y — 8
=3z -2y’ —zy+2z+8y—8

Q24

Answer :

By harizontal method:

(z? — 52 +8) x (z® + 2z — 3)
=2?(z? — 5z +8) +2z(2® — 5¢+8) — 3(2? — 5z + 8)

=g —52% + 822 + 223 — 1022 + 16z — 322 + 15z — 24
=g —32% 522+ 31z —24

Q25

Answer:

By horizontal method:

(22* + 3z —7) x (32 — 5z +4)
=22% (32? — 5z +4) + 3z(32? — 5z +4) — 7(3z — 5z + 4)

= 6z* —10z°® + 8z2 + 9z® — 1522 + 12z — 21z + 35z — 28
=6z — 23— 2822 4+ 47z — 28

Q26

Answer :

By haorizontal method:

(92 —z +15) x (z* —z—1)

=z*(92° —x+15) —z(9%2® —x +15) — 1(92® — z + 15)

=0z* — 2% + 1522 -0z +2® — 15z — 9z +x — 15
=0z* —10z° + 7z — 14z — 15
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Operations On Algebraic Expressions
Ex 6C

Q1

Answer :
(i) 24x%2y° by 3xy

2417
dzy

> (3 )

= Bry.

Therefore, the quotient is 8xy2
(ii) 36xyz2 by -9xz

36zyz”

Gz

S (®)e e e

= —dyz

Therefore, the quotient is —4yz.

(i)

—722%y 2z by — 12xyz
722’y
12xyz
= (B)EHE )Y
= Bzy

Therefore, the quotient is 6xy.

(iv) =56mnp? by Tmnp

56mnp’
Tmnp

= () ) e ) @)

= —8p
Therefore, the quotient is —8p.

Q2

Answer:
(i) 5m3 - 30m? + 45m by 5m

(5m3 —30m? + 45m) <+ 5m

5m® 30m? 45m
= Sm Sm Sm

Therefore, the quotient is m2 - 6m +9.
(ii) 8222 - 6xy2 + 10x3)° by 2xy

(8m2y2 — b6zy® + 103:2y3) + 2zy

Rply? Gry? 102%y?

2ry 2ry 2ry
= dzy — 3y + bzy®
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(iii) 9x2y - 6xy + 12xy2 by - 3xy

(92:23; — bzy + Iszz) + —3zy

azly _ Gzy 122y
3ry dzy Jry
=3z + 2 — 4y

Therefore, the quotient is —3x + 2 - 4y.

(iv) 12x* + 8x3 - 6x2 by - 2x2

Q3 (12:‘ + 8 — ﬁa.—?*) = 9g? Lged?
Answer : 1224 [ [
= At A s

(P —dx+dyr(x-2) T

. Ej o dy+ 4 (‘ o Therefore the quotient is —6x% - 4x + 3.
-2

- 2x
— 4
2x+4
—2x+4
+ -
b4

Therefore, the quotient is (z — 2) and the remainder is 0.

Q4

Answer:

x+2ix3_4 i.t—Z
x* + 2x
—2x—4
—2x—4
+ +
*

Therefore, the quotient is £-2 and the remainder is 0.

Q5

Answer:

(%2 +12x + 35) by (x + 7)

x+T) 4 120+ 35i_r+5
¥+ Tx

Sx+35
Sx + 35

*

Therefore, the quotient is ( + 5) and the remainder is 0.

Answer:
3yt 25 15x% + ,r—6i5.r—3
15x% + 10x
— 9 -6
9x -0
+ 4+
x

Therefore, the quotient is (5 — 3) and the remainder is 0.

Q7

Answer :
?.v—9i 14y — 53x + 45ﬁ2v—5
14x® — 18x

—35x + 45
—35x + 45

S
Therefore, the quotient is (2z — 5) and the remainder is 0.
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Answer :
2x-5 ] 6x° —3x+47 ilr—S
6x° — 15x
— 16x +47
16x + 40
+ —
7

Therefore, the quotient is (3z — 8) and the remainder is 7.

Q9
Answer :
2% +3 ih»w X 5x 2ix3—x—l
2% + 3x2
—2x% - 5x
27 - 5x
| |
-2x-2
-2x-3
+ +

1
Therefore, the quotient is (x? — z — 1) and the remainder is 1.

Q10

Answer:

x+1) 41 i.rf—_r+l

o2+
¥ —x
+ +

x+1

x+1

0
Therefore, the quotient is z2-x+1 and the remainder is 0.

Q11

Answer :

.L“:+.'l'+|) M-+ 2+ 4 (.t:—3_v+4
AR R o

=3+ AT
—3x!— 3 3x
+  + o+

4 +4x+a
42+ 4y + 4

*

Therefore, the quotient is ( X2 - 3x + 4) and remainder is 0.

Q12

Answer:

.\'3—5_1'+6) P+ 11x—6 (—Y—]

X —5x7 + 6

_ o+ _
—1x*+5x—6
—1x*+5x—6

x

Therefore, the quotient is (x-1) and the remainder is 0.

Q13
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Answer :

X =3 4) Sxt—120" 4 12¢ + 13 (S,t 3
=157+ 20x

I —8x+13
I -0+ 12
_ + -

x+1
Therefore, the quotient is ( 5x+ 3) and the remainder is (x + 1).

Q14
Answer :

2" - 3x + 5) 2 5y 4+ 8 -5 («V 1
2 - 3+ 5x

_ } _
—2x*+3x-5

—2x*+3x-5
+ -
x

Therefore, the quotient is (x-1) and the remainder is 0.

Q15

Answer :

2t +x— l) Sxf + 107 — 5% — 4 + l(4x3+3.r—2
St 4+ A? : 4x=

6 — x4y + ]
6+ 37— 3x
+
-4 x+1
— 4t - 2x+ 2
+ 4

x—1

Therefore, the quotient is ( 4x%+ 3x -2) and the remainder is ( x-1).
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Operations On Algebraic Expressions
Ex 6D

(a+b)y=a2+2ab +b?=(-a-b)?

(a—b)2=a?—2ab+Db?

(a-b)(atb)y=a’2-b?

(a+b+c¢)2=a’+b?>+c?+2ab+2bc + 2ca

(a+tb-c)?=a?+b?+c?+2ab-2bc—2ca

(a—b+c)2=a?+b?+c?—2ab—-2bc +2ca

(ra+b+c)2=a2+b?+c?-2ab+2bc—2ca

(a—b—-c)2=a+b*+c?—-2ab+2bc—2ca

(atby=a+b*+3ab(atb)

0. (a—b)’=a*-b*-3ab(a-b)

1. a+b*=(a+b)’-3abla+Db)
=(a+b)(a’—ab+1b?)

12. a*> —b*=(a—Db)’ +3ab(a—b)

=(a—Db) (a2 + ab + b?)

13. a* +b*+c¢*—3abc=(a+b+c)(a2+b?+c?2—ab—bc—-ca)

ifa+b+c=0thena’+b*+c®=3abc

Q1

H 200NN AW =

Answer :

(i) We have:

(:1: + 6) (:-: 2+ 6)
(:z: + 6)

—22 162 +2xzxb [usi}lg (a-+b)2=a.2+b2+2ab]
=z2+36+12z

(i) We have:

(4:,,» + -5y) (4;3 + Sy)

= (43: + 5?;)2

— (4z)* + (59)° + 2 x 4z x By [us'mg (a, + b)2 —a? B+ zab]

= 1622 + 25y + 40zy
(iii) We have:

(m + gb) (m + Qb)

. (m + gb) ’

2
= (7a)® + (9b)* +2 x 7a x 9b [usi.ug (a+ b) =a? +b° + Qab]
= 49a® + 81b* + 126ab
(iv) We have:
2 4 2 4
(o3t

z
(i)

2 2 2
=(%a:) +(%y) +2x%mx%y {using (a—l—b) =a? 4+ b% 4 2ab
4.2, 16,2, 16
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(v) We have:
m2+7)(a:2+‘?)

2
=(z2+7)
:(m2)2+72+2x32x7 [using (a+b)2:a2+b2+2ab
=z* 449 4 1422
(vi) We have:
( az+2)( az+2)
:(%324—2)

2

:(%32)2+(2)2+2x%a2x2 [using (a+b) —a® + b’ + 2ab

:%a4+4+ g2

Q2

Answer :

(i) We have:

(z—4)(m—4)

=(m—4)2

=z - 2xzx4+4 [using (ﬂ,—b) =a —2ab+b2]
=22 -8z +16

(i) We have:

(23 e 3y) (Qf - 3y)
- (23: : By) 3

= (2z)® — 2 x 2 x 3y + (3y)* [us'mg (u—b) =a —26b+b2]
=4z? — 12zy+ Oy

(iii) We have:

:(%z)z—ngzx%y+(%y)2 [us'm.g (a—b)2—a. —2ab+ b

9 .2 15 5,2
L WtREY

(iv) We have:

D)

=(z)2—2xzxg+(g)2 [using (a—b)g_a —Qab—HF}

Z

2
:(%xZ) —2x322x9+(9)° [using (a—b) —a —2ab+b2]
= z*— 652 +81
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(vi) We have:

2 2 2

=(%y2) —2x%y2x%y+(§y) [usi.ng (a—b) —a® —2ab + b
1 1

DL AR AR 1

Q3

Answer :

We shall use the identities (a+b)? =a2 +b? +2ab and (a-b)2 =a2 +b2 -2ab.

(i) We have:
(&1 4 35)2

— (8a)® + 2 x 8a x 3b+ (3b)°
= 64a’ + 48ab + 9b°
(ii)We have:

2
(7:.:+ 2y)
=(Tz)® +2 x Tz % 2y + (2)°
= 49x? + 28zy + 4y°

(iif) We have -
2
(5:z+ 11)

— (52)® +2 x 5z x 11 + (11)?
=9252% 4+ 110z + 121

(iv) We have:

a+22
2 a

(vi) We have:

(Qm = 10) 3

(9z)® — 2 x 9z x 10+ (10)?
= 81z® — 180z + 100
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(vii) We have:
2
(zv-22")

(a:Qy)z —2x Py xy® + {yz2)2

L z4y2 _ 2z2y2z2 it ,y2z1i

(vili) We have:
z y 2
g &

2 2
=(3) 252+ ()
- ¥
= 2+§
(ix) We have:

(3m—én)

5

2
=(3m)2—2x3mx§n+(%ﬂ)

et 2 _ Zdmn 16 2
=0m*—="+ =n

Q4

Answer :

(z+3)(z—3)
—z?-9 [using (a+5) (a—b) = a* — 7]

(ii) We have:

(2:z+ 5) (2:.: — 5)

— 4% — 25 [us'mg (a+ b) (a y b) - bQ]

(iii) We have:

(8+z)(8—z)

—64—2° [using (a+b)(a—b)=a2—b2]
(iv) We have:

(7:3 - lly) (?:n - 11y)

— 4022 — 121° [usm (a +b) (a - b) —a— 52]
(v) We have:
(5:32 + %yz) (5:1:2 - %'yQ)

=25z — [using (a+ b) (a — b) —a®— bz]
(vi) We have:

Y
(?z - T) (?z + T)

1622 2697 . 2

=5 — 5 [usmg (a+b)(a—b)=a2—b)}
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{vii) We have:

)

L [using (a+b) (e b) —a* ]

y—ln [usj.ng (a+b) (a—b) :az—bE]
(ix) We have:
(20. + %) (2{1 — %)

=4a2—b—2 [using (a+b) (a—b) =a2—b2]

Q5

Answer :
We shall use the identity (a+b)2 =a2 +b2 +2ab.
(0
(54)*
2
= (50 + 4)

= (50)® + 2 x 50 x 4 + (4)*
= 2500 + 400 + 16
=2016

(i)
(82)°
- (so n 2)2

= (80)% +2 x 80 x 2+ (2)°
= 6400 + 320+ 4
— 6724

(i)
(103)*

— (100 +3)2

= (100)% 4 2 x 100 x 3 + (3)
— 10000+ 600 + 9
= 10609

(iv)
(704)
2 (700 e 4) ;

= (700)% 4 2 x 700 x 4 + (4)°
— 490000 -+ 5600 + 16
— 495616

Q6
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Answer:

We shall use the identity (a-0)2 = a2 +02 -2ab.
0]
(69)*
2
(70 & 1)

(702 —2x T0x1+1
4900 — 140 + 1
4

=(80)" —2x 80 x 2+4
= 6400 — 320 +4
— 6084

{iii)
(197)*

= (200 -3) ’

=(200)* —2x 200349
= 40000 — 1200 +9
— 38800

(iv)
(999)>

= (1000 . 1)2

= (1000)% — 2 x 1000 x 141
— 1000000 — 2000 + 1
= 998001

Q7

Answer :

We shall use the identity (a-b) (a+b)=a - b2

D)

(82)? — (18)°

— (82— 18)(82 + 18)
— (64)(100)

— 6400

(il

(128)% — (72)?

= (128 — 72)(128 + 72)
= (56)(200)

=11200

(i)
197 x 203

= (200-3) (200 . 3)

— (2000 — (3)?
=40000 -9
= 39991
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(V)
108198102102
%

_ {198)" (102)’
= 90

_ (198-102) (1984 102)
e
{(96) (300)

96
=300

(v)

(14.7 x 15.3)
=(15—0.3) x (15640.3)
= (15)? — (0.3)?

=225 —0.09

=224.01

(vi)

(8.63)% — (1.37)?

— (8.63 —1.37)(8.63 + 1.37)
= (7.26)(10)

=72.6

Q8

Answer :

(922 + 24z + 16)

Given, z = 12

= (3z)> + 2 (3z)(4) + (4
= (3z + 4)°

= (3(12) + 4)*

= (36 + 4)°

= (40)* = 1600

Therefore, the value of the expression (9% + 24x + 16), when x = 12, is 1600.

Q9

Answer:

(642 + 81y* + 144zy)
Given :

=11

y=73

= (8z) + (9)® + 2(8z)(%)
= (8z +9y)°

2

= (8{11) +9(§))
= (88 +12)°

= (100)*

= 10000

=)

Therefore, the value of the expression (64x2 + 81y2 + 144xy), when x =11 and y = %, is 10000,

Q10
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Answer :
(36x% + 25y* — 60xy)

2 1
=T=3,U=cx

= (62)" + (59)" — 2(6)(5y)
= (6z — 5y)’

-(¢(3) ~s(2))
=(4-1y
=3y’

=0

Q11

Answer:

(z’) (a:+§) s of

Squaring both the sides:
:,.(z+—;)2= (4)?

= (+% +22)(2)) = 16
= (2:2+$) +2 =16

= (22 +4) =162

=>(z?+$) = 14

Therefore, the value of X2+ﬁ is 14.

(zz—l— %) = 14

Squaring both the sides :
= (a:‘* + = +2(z?) (?12)) = (14)°
= (z*+ 2 )+2 = 196

(= + %)

Therefore, the value of x*+ ﬁ is 194.

Q12

Answer :

() )=

— Squaring both the sides :
= (z-2)"= 7
=>(9:2+ﬁ—2(m)(%))= 2%
=>(2:2+$)—2 —95
:>(a:2+ﬁ)=25+2
=>(a:2+ﬁ)= a7

Therefore, the value of (.."32 + ﬁ) is 27.
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(::2 + %) =27
= Squaring both the sides:
= (zt + L —2(22)(L)) = (27)°
(= + 2267 (%)) - @0
:>(;.:4+ L)-2 =172
= (2t + &) = 720+2
- (2:“ + z—{,) — 731
Therefore, the value of (:B" + ?1_,) is 731.
Q13

Answer:

(@) (x4 1)(z — 1) (z* + 1)

= (2 —z+z—1)(z* +1)

= (z? —1)(2? +1)

= (z?) T (12)2 [a.ccording to the formula a® —b* = (a+b)(a — b)]
=zt —1.

Therefore, the product of (z + 1)(z —1)(z* +1) is z* — 1.

(i) (z —3)(z + 3) (2 +9)

= ((:r)z - (3)2) (z*+9) [a.ccorcljng to the formula a® — b — (a+b)(a — b}]
= (2% —9) (2% +9)

= (z?) o (0)? [according to the formula a> — ¥ = (a+b)(a— b]]
=z*-81

Therefore, the product of (z — 3)(z+3)(z* +9) is z* — 81.

(iii) (3z — 2y)(3z + 2u) (9% + 437)

= ((32)" - (20)°) (%2* + )

[according to the formula a® — b = (a+b)(a— b)]

= (9z® — 497) (922 + 49%)

= (93:2)2 - (43:2)2 [al:cording to the formula a®> — 4" = (a+b)(a—b)
= Blx* — 16y*.

Therefore, the product of (3z — 2y)(3z + 2y) (92* + 4y*) is 812" — 16y

(iv) (2p+3)(2p — 3) (4" +9)

= ((Qp)z - (3)2) (4p* +9) [according to the formula a® —b* = (a+b)(a— b)]
= (49" —9) (40 +9)

= (41?2)2 —(9)? [accord.'m.g to the formula a® —b* = (a+b)(a— b)]
= 16p* — 81.

Therefore, the product of (2p+ 3)(2p — 3)(4p” +9) is 16p" — 81.

Q14
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Answer:

z+y =12

On squaring both the sides :
= (z+y)’ = (12)°

=zl 4yt +2zy = 144
=1+’ = 144 — 2zy
Given :

zy = 14

=z +y? = 144 — 2(14)
=22+y® = 144 — 28
=2+ = 116

Therefore, the value of ® + 3> is 116.

Q15

Answer :

r—y=7T

=+ On squaring both the sides :
= (z—y)’ = (7

=z’ +y?—2zy = 49

=22 +y° = 49 + 2zy

Given :

zy =9

=z2+y = 40 + 2(9)

=22 49y = 40 + 18

=22 +42 = 67.

Therefore, the value of z° + 42 is 67.

Downloaded from www.studiestoday.com



Downloaded from www.studiestoday.com

RS Aggarwal Solutions Class 8 Mathematics
Operations On Algebraic Expressions

Ex 6E

Q1

Answer:

(c) (-6a + 170)

ba +4b —c +3

+2b —3c +4
—Ta +11b +2c —1
— ba +2c —6
—6a +17b+ Oc +0

Q2

Answer:

(d) (3p? + 50 - 93 +7)

T +3g —2° +4
4 —2q +7° -3
-+ = 4+
3p2+ 59 — W3 + 7

Q3

Answer :

(d) %2 + 2% — 15
(z+5)(z—3)

= (z)(z—3) + (5)(z —3)

=z? -3¢ +5z —15
=z 4+2—15

Q4
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Answer :

(b) (6x2 + Tx - 3)

(22 +3)(3z — 1)
= (2z)(3z — 1)+ (3)(3z — 1)
= 6z —2¢ +9z—3
= 622 + 7z —3
Q5

Answer:

(c) (x2 + Bx + 16)

(z+4)(z+4)

= (z+4)° (a.ccurdjng to the formula (a +b)* =a®+ 2ab+ bz)

= (22) +2(x)(4) + (4
= x>+ 8z +16

Qb

Answer :

{d) (X2 — 12x + 36)
(z —6)(z —6)
= (z— 6)2

= (2°) —2(z)(6) + (6)°
> 22— 122+ 36

(a.ccording to the formula (a—b)* = a2 — 2ab+ bz)

Q7

Answer:

(b) (4x2 - 25)

(2z + 5)(2z — 5)
= (2z)* — (5)*

(a.ocurdjng to the formula (a+b)(a —b) = a® — bz)
= 4z? — 25

Q8

Answer :

(c) —4ab?

8a’t® + (—2ab)

= (S}

= —dab?

Q9

Answer :

(b) (2x + 1)

-‘1_1:-|21r2 + 3x + lt2x+1
2 +2x

+lx+1
+lx+1

*

Q10
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(@ix-2)

x—2 :-I,r2_4x v 4 i_t—Z
r-2x
+

Q11

Answer :

(©) (@*-1)

(i) (a+1)(a—1)(a® +1)
= (@) ~(1)*) (a*+1)
= (a* —1)(a® +1)

= (a2)2 - (12)2 [al:cordi_ug to the formula a? — b*
=a*—1

Q12

Answer:

0(22)
(2+3)(2-3) ‘

= According to the formula (a+b)(a —b) = (a)® — (b)° :

1 1
MR

Q13

Answer:

(c) 23

(m+§) —5

— Squaring both the sides :
= (z:+—;)2= (5)*
(2: +4 +2(z](1))= 25

=>~(2: + = )+2—25

= (2:2+i,) =25—2
= (2:2 s l,) —:09
Q14
Answer
(b) 38

= Squaring both the sides :

“let) o

s a(2) -
=>(z:2+ ,)— =36
=r~(:r:2 ) 36+2
= (22 + %) — 38

[a.ccordjng to the formula a? — b

RS Aggarwal Solutions Class 8 Mathematics

— (a+b)(a— b)]

- (a+b)(a—b)]
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Q15

Answer:

(c) 6400

—_—

82)% — (18)*

(82 + 18)(82 — 18)
(100)(64)

6400

[using the identity (a-b){a+b)=aZ -b?]

Q16

Answer:

(a) 39991

(197) x (203)

= (200 — 3)(200 + 3)
= (200)% — (3)?

— 40000 — 9

= 30001

[using the identity (a+b) (a-b) = a2 -b?]

Q17

Answer :

(b) 116

(a+b) =12
= Squaring both the sides :
= (a+b)® = (12)°

- (a.2+ % +2ab) — 144

Q18

Answer:

(a) 67

(a—b) =T

= Squaring both the sides:
= (a—b)" = (7

N (a2+ b —Qab) — 19

= (0 + 8) = 49+ 20
5 (az+ .52) — 49 +2(9)
= (a®+ .52) — 40+18
oy (az+ 52) — 67
Q19 Answer:
(c) 625

(432 +20x + 25)

= (2z)* + 2(2z)(5) + (5)°
= (2z + 5)°

= (2(10) 4 5)2

= (20+5)*

= (25}2
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